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1. || This question is about clay pigeon shooting Mark
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This question is about BrAt
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3. || This question is about epoxides Mark
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4. || This question is about Raman spectroscopy Mark
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Use of graph paper is optional.
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5. || This question is about agarwood Mark
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6. || This question is about the iodination of ketones Mark
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Statement

Product whose reaction pathway has a larger
rate constant for the first step

Is the major product at high [I2]

Product whose reaction pathway has a larger
Keq

Is the major product a low [I2]
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